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Ha evinonnenue onumnuaomvix 3adanuti omeooumcsa 150 munym. Bam npeonacaemcs
8LINONHUMb Yemblpe Kame2opuu 3adanuil. Ilpu evinoaneHuu 3a0anuti 6HUMAMENbHO Yumaime
UHCMPYKYUIO K KAHCOOMY 3A0AHUIO.

Maxcumanvroe koruuecmeo 6aii0s 3a Omeemol:
- Yacmeo 1. (Reading) - 30 6annos;

- Yacmo 2. (Writing) - 30 6annos;

- Yacmo 3. (Use of English) - 20 6annos;

- Yacmo 4. (Cultural Studies) - 20 6annos.

Part 1. Reading

You are an editor of a magazine. You have come across an interesting article but some parts
of the article have been mixed up. Use the headline and the initial paragraph of the article
and put the parts to the title and in the right order so that you should receive the original
article.

Tasks 001-010. (10 6annoB, mo 1 6amty 3a KaxAbIii MPABWIBHO PACIOJIOKEHHBIH af3ai
TeKcTa)
Article 1.

THE UNIQUE HUMAN BRAIN
The human brain is selective about the things it pays attention to. Our senses are constantly
attacked by smells, colours, tastes, and sounds, and much of that information has to be filtered out,
so we can focus on the important things that can keep us alive. But humans aren't the only animals
who need to focus on certain signals to stay alive, so what sets us apart?
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001. C) As it turns out, when humans and macaques focus on the same task their brains work
differently, a small study published recently shows. The finding reveals that the human attention
network probably expanded over time. And that's a pretty important piece of our evolutionary
puzzle — especially given how often scientists use the macaque brain to study our own.

002. E) The data captured during the test showed that the region of the human brain that plays
a key role in redirecting attention doesn't have an equivalent in the macaque brain. The researchers
also found that some brain areas were more active in humans than in macaques during this task.
Finally, there was more communication between the two brain hemispheres in humans compared
with the macaques — a finding that researchers think was surprising.

During the test the humans and the monkeys had to memorise a picture, like a green car, for
instance. Then, they were told to fixate on a point in the centre of a computer screen. As the mon-
keys and the humans stared at the point, a stream of images appeared in various parts of the screen
at a rate of about 10 objects per second. The goal was to push a button whenever they saw the
green car appear.

003. A) The most exciting finding is the fact that there is a clear sign that the human brain has
some unique properties that separate it from other primates.

004. B) Yet, some scientists claim that the findings can't really discredit the use of the ma-
caque brain model. They believe that here is a wealth of evidence that the macaque is an excellent
model for attention research in general. Others point out that the data isn't very detailed.

The increased communication doesn't necessarily mean that the way the human brain operates
is better, however. Sharing information with other parts of the brain may reduce the speed of cer-
tain processes in humans. If that's the case, it may mean that being able to react quickly to a pred-
ator's approach, for instance, matters more for macaques. Humans, on the other hand, may have
traded speed for some kind of cognitive flexibility.

These differences point to a larger message: humans seem to have developed an additional
attention control network over evolutionary time. Contrasting both brains as they perform the same
tasks is a good way of reconstructing the evolutionary forces that lead to these differences.

Humans are much more complex in the way they interact socially, so they need a better ability
to single out those subtle cues and use that information to guide their future decisions than a ma-
caque would. It's therefore possible that this additional network is used to detect behavioural in-
formation that macaques don't need. The study didn't look at social behaviours, however.

005. D) For the researchers the study shows that there are some aspects of human cognition
that we’ll just have to study in humans, instead of monkeys. They hope that this work will push
scientists to try to learn more about the macaque brain. Focusing on that could reveal much about
what the human brain has done to adapt to its own environment during the past 25 million years.

TASK
001.
002.

KEYS
C
E
008. A
B
D

004.
005.

Acrticle 2.
MIND OVER MASS MEDIA
New forms of media have always caused moral panic: the printing press, newspapers, and
television were all once denounced as threats to their consumers’ brainpower and moral fiber. So
too with electronic technologies. PowerPoint, we’re told, is reducing discourse to bullet points.
Search engines lower our intelligence, encouraging us to skim on the surface of knowledge rather
than dive to its depths. Twitter is shrinking our attention spans.

Bapuant Ne 24-O11I-2-11 AHrauiicKuii s3b1K-3
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But such panic often fails basic reality checks. When comic books were accused of turning
Juveniles into criminals in the 1950s, crime was falling to record lows. The decades of television,
transistor radios and rock videos were also decades in which 1.Q. scores rose continuously.

006. B) For a reality check today, take the state of science, which demands high levels of
brainwork. These days scientists are never far from their e-mail, rarely touch paper and cannot
lecture without PowerPoint. If electronic media were hazardous to intelligence, the quality of sci-
ence would be plummeting. Yet discoveries are multiplying like fruit flies, and progress is dizzy-
ing.

007. E) Critics of new media sometimes use science itself to press their case, citing research
that shows how “experience can change the brain”. But cognitive neuroscientists roll their eyes at
such talk. Experience does not remake the basic information-processing capacities of the brain.
Speed-reading programs have long claimed to do just that, but the verdict was rendered by Woody
Allen after he read “War and Peace” in one sitting: “It was about Russia.”

The effects of consuming electronic media are also likely to be far more limited than the panic
implies. Media critics write as if the brain takes on the qualities of whatever it consumes, the
informational equivalent of “you are what you eat”. As with primitive peoples who believe that
eating fierce animals will make them fierce, they assume that reading Twitter postings turns your
thoughts into Twitter postings.

008. D) Moreover, the effects of experience are highly specific to the experiences them-
selves. If you train people to do one thing, they get better at doing that thing, but almost nothing
else. Music doesn’t make you better at math. Accomplished people immerse themselves in their
fields. Novelists read lots of novels, scientists read lots of science.

009. C) Yes, the continual arrival of information packets can be distracting or addictive. But
distraction is not a new phenomenon. The solution is to develop strategies of self-control. Turn off
Twitter when you work and put away your smartphone at dinner time.

The new media have caught on for a reason. Knowledge is increasing exponentially; human
brainpower and waking hours are not. Fortunately, the Internet and information technologies are
helping us manage and search our collective intellectual output at different scales, from Twitter to
e-books and online encyclopedias. Far from making us stupid, these technologies are the only
things that will keep us smart.

010. A) And to encourage intellectual depth, don’t rail at PowerPoint or Google. It’s not as if
habits of deep reflection or thorough research ever came naturally to people. They must be ac-
quired in universities, and maintained with constant analysis, criticism and debate. They are not
granted by propping a heavy encyclopedia on your lap, nor are they taken away by efficient access
to information on the Internet.

TASK KEYS
006. B
007. E
008. D
009. C
010. A

Tasks 011-020. (10 6axn10B, mo 1 6a1y 32 MpaBUIILHBII 0TBET HA KaXKIbIi BOIPOC).

Reread the two assembled texts. Choose the meaning the words and phrases in bold have in
one of the texts.

011. The underlined word “captured” means the same as:
A. reflect

B. fend

C. beat off

D. avert

Bapuant Ne 24-O11I-2-11 AHrauiicKuii s3b1K-3



012. The underlined word “discredit” means the same as:
A. rebut

B. controvert

C. contradict

D. disrepute

013. The underlined word “predator” means the same as:
A. enemy

B. beast of prey

C. spoiler

D. fly

014. The underlined word “cognition” means the same as:
A. thinking process

B. principle

C. thought

D. mental action

015. The underlined word “cue” means the same as:
A. note

B. signal

C. pulse

D. call

016. The underlined word “juvenile » means the same as:
A. teenager

B. halfling

C. kids

D. young girl

017. The underlined word “plummeting ” means the same as:
A. involve

B. mud

C. be absorbed

D. decline

018. The underlined word “immerse” means the same as:
A. plunge

B. dive in

C. bathe

D. dunk

019. The underlined word “fierce” means the same as:
A. unkind
B. dive in
C. severe
D. vicious

020. The underlined word “exponentially” means the same as:
A. mainly

B. quite

C. measurably

D. ultimately
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Tasks 021-030. (10 6aa10B, mo 1 6a/Ty 32 NPaBUILHBII OTBET HA KAXK/BIH BOMPOC)

Here is a summary of the article “The unique human brain”. However, it contains some vo-
cabulary, grammar and factual errors. Decide which of the sentences contain an error if any.
There can be more than 1 error in a sentence. Some sentences do not have errors at all. If
there are no errors in the sentence choose “0”.

021. There was more communication among the two brain hemispheres in humans compared
with the monkeys during the test.
A0

S MTMOUOW

22. During the test the humans and the monkeys had to memorise an audio file.

23. The goal of the test was to push a button whenever they heared the appropriate signal.

24. The increased communation means that the way the human brain operates is worse.

25. Humans may not have traded speed of the brain for some kind of cognitive flexibility.
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026. The most distracting finding is the fact that there was a clear sign that the human brain have
no unique properties that separates it from other primates.
A0
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Bapuant Ne 24-O11I-2-11 AHrauiicKuii s3b1K-3



027. Humans are much more complex in the way they interact socially, so they need a better
ability to single out those subtle cues and using that information to guide their future decisions
than a macaque would.

A.0
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028. The human brain is selective for the things it pays attention to.

030. During the test the humans and the monkeys have to memorize a picture, like a green car, for
instance.
A.0
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Part 2. Writing
Tasks 031-035. (10 6aa10B, Mo 2 6aJiiia 3a Kax/a0e NPABHJILHO COCTABJIEHHOE MPeI0KeHne)
Use the following separate words in the order given to write a coherent sentence, based on
information in the article “Mind over mass media”. You may change the form of the given
words.
You may use your sentences as parts of your outline for your commentary on the article
“Mind over mass media”.
031. our intelligence / to skim / its depths
032. scientists / touch paper / PowerPoint

033. electronic media / more limited than / panic implies

034. primitive peoples / eating fierce animals / assume that reading / Twitter postings
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035. not granted by / a heavy encyclopedia / efficient access / on the Internet

Task 036. (MakcumaibHOe KoJim4ecTBO - 20 6a/1710B)

Write your commentary on the article “Mind over mass media”. Your commentary is to be
between 180-200 words. You are not allowed to cite from the original text pieces longer than
4 words running. Your text should contain various points of view, including your own.

To fulfill the task successfully you are:

- to briefly convey the content of the article;

- to mention various/possible views of the issue;

- to divide your text into logically connected paragraphs.

KPUTEPUU OUEHUBAHUA 3AJJAHUS «IMCBMEHHAS PEUb (WRITING)»
3aganus 031-035
[TpennoxeHne oleHUBAETCs B 2 0ajia, eclu MPEIJIOKEHUE HE COJEPKUT IPaMMATHYCCKUX,
JICKCHUYECKUX, opdorpaduueckux omuOoK. B mpemiokeHun MCIOIb30BaHBI BCE 3asiBICHHBIC
DJICMEHTHI, HE HApYyIMIeH WX TOPSANOK, NaHHBIA B 3agaHUM (U1 AHTIUHCKOTO S3bIKA).
[TpenioskeHue He SIBJISCTCS IMTATOM U3 TEKCTA.
[Tpemnoxenue orneHuBaeTcss B 1 0ajJi, eciiM MPENIOKEHUE HE COJMCPKHT T'PaMMATHYCCKUX,
JIEKCUYECKHUX OIUOOK, HO TomyIieHa oaHa opdorpaduyeckas ommoxa.
B npensioskeHnn UCIONb30BaHbl BCE 3asIBIICHHBIC 3JIEMEHTHI, HE HAPYIISH MX MOPSIOK, TaHHBINA B
3aJjaHuu (JUTsl aHTIIMICKOTO sI3bIKa). [IpeioxkeHne He SBIseTCS UTATON U3 TEKCTa.

3ananue 036
MaxkcumanpHoe KonnyecTBo 0atos: 20

Buumanue! [Ipu onenke 0 mo kputeputo «PerieHne KOMMYHHUKATHBHOM 3a]1aun BBICTABIISICTCS
oOmras onenka 0.

BAJLJIbI:

— PELIEHUE KOMMYHUKATUBHOM 3AIAYU — maxcumym 10 6annos;
— O®OPMJIEHUE — makcumym 10 6annos.

OO11ast uTOroBas OlIEHKA BBIBOAUTCS HA OCHOBAaHMM KPUTEPHEB, MPUBEIEHHBIX

B Ta0JIMIIe: KOMITO3HUIIHS, JIEKCHKA, TPAMMaTHKa, opdorpadust 1 MyHKTyaIus

KommyHnukatuse | Komnosunum | Jlekcuka I'pammaruka Opdorpadus | [lynxryanus

ast 3a/1a4a s

Pemenne Komnosumm | Jlekcuka I'pammaruka Opdorpadust | ITynkryanus
KOMMYHHMKaTHUBH o (Makcumy (MakcumMyMm (Mmakcumym 1 | (MakcuMyMm

o1 3a1aun (MakcumMyMm M 3 Gaa) Oasn) 1 Gamm)
(MakcuMalnbHas 2 Ganna) 3 Gamnna)

oueHka 10

6aIioB)

KoMMyHHKATHBHAs 32/1a4a MOJHOCTHI0O BbinoaHeHa (10 6a/10B) — colepkaHUE PaCKPBITO
MOJIHO, TOUHO ¥ MHTEPECHO, SI3bIKOBOE HAIIOJIHEHHE COOTBETCTBYET 3asBICHHOMY YPOBHIO.

Pabora yyacTHHKa COIEPKUT:

- €CTbh BCTYIUJICHHE — 2 Oaia

- [Ipe/ICTaBJIeHbI Pa3Hble TOUKU 3peHus — 1-2 Oamia;

- IPeJCTaBJIeHa CBOSI TOUKa 3peHus — 1-2 Gainna;

- Ipe/icTaBiIeHbl 000OCHOBAHHBIE apryMeHThl 12 Oaa;

- 00BEM pabOTHI TMOO COOTBETCTBYET 3aJJaHHOMY, JINOO OTKJIOHSETCS OT 3a/laHHOTO He Ooiee ueM
Ha 10 % — 2 Gamna.
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Odopmienue:

Kommno3unus - 2 6ajaa.

Pa60Ta HC HUMECT OIJ_II/I60K C TOYKH 3peHI/I$I KOMITO3HUIIUN. HpeI[CTaBJICHBI BBCJICHUEC, OCHOBHAasA
yacTh W 3akimodeHue. CoOiro/leHa JIOTMKa BbBICKa3bIBaHUA. CpelncTBa JIOTHYECKOW CBS3H
MPUCYTCTBYIOT U UCTIOIB3YIOTCS MPAaBWIbHO. TeKCT pa3aenéH Ha ad3allbl MPaBUIIBHO.

Jlekcuka - 3 6asa.

VY4YacTHUK I€MOHCTpUpPYET OoraThblil JIEKCHYEeCKUH 3amac, HEOOXOAUMBIN AJIi PACKPBITUS TEMBI,
TOYHBIN BEIOOP CJIOB M a/IEKBaTHOE BJIa/IeHHE JIEKCUKOU. PaboTa He nMeeT OImmOOoK C TOUKH 3peHUs
JIEKCUYECKOr0 0(POPMIICHHUS.

I'pammaruka - 3 6asia.

Y4acTHUK JEMOHCTPUPYET IPAMOTHOE M YMECTHOE YMOTpeOJieHHEe TPaMMAaTHYECKUX CTPYKTYp B
COOTBETCTBUM C KOMMYHUKATUBHOM 3a1aueil. Pabora umeer 1 HerpyOyro omuOKy ¢ TOUKU 3pEHUS
rpaMMaTHYECKOr0 0(hOpMIICHHUS.

Opdorpadus u nyHkTyanus - 2 6aia.

VY4YacTHUK IEMOHCTPUPYET YBEpEHHOE BlIaJIeHHE HaBbIkaMu opdorpaduu 1 nmyHKkryauuu. Padora
HE MMeeT OMMUOOK ¢ TOYKH 3peHus opdorpaduu. B pabore Moryr ObITh 1-2 MyHKTyallMOHHBIE
OLIMOKH, HE 3aTPYAHSAIOLINE TOHUMAaHUE BHICKa3bIBAHUS.

KoMMYyHHKATHBHA 32/1a4a PACKPBITA YACTHYHO - TEMa PACKPHITa, OJTHAKO B paOOTE OTPasKCHBI
He Bce acnekTbl. OTCYyTCTBHE KaXKJI0TO aclekTa NMPUBOAUT K moTepe 2 OayioB. Eciau acnekTsl
MPUCYTCTBYIOT, HO PACKPBITHI HE Pa3BEPHYTO, TO BBHICTABISETCSA TOJIBKO 1 Gai.

[Ipu oTcyTcTBUM J100BIX 4 acleKTOB U3 1 — 6 BEICTABIACTCA olleHKa «0» 1o kpuTepuio «Pemenue
KOMMYHHKATUBHOM 3a1a4M.

Odopmienue:

Kommno3nunus - 1 6am.

B nenom TekcT umeer 4€TKyro koMmno3uiuio. OAHaKo B A€NIEHUH TeKCTa Ha ab3albl umMeroTes 1-2
Hapymenus. Jlomymiensr 1-2 ommoOKy mpyu UCTIOIB30BAHUH CPEICTB JIOTUYECKON CBA3U W/ WiH 1—
2 HapylIeHHs TIOTUKH BBHICKA3bIBAHUSI.

Jlekcuka - 2 6asna.

YyacTHUK JEMOHCTpUPYET OOTaThiii JIEKCUUYECKHM 3arac, HeOOXOAUMBIN NI PACKPBITHSI TEMBI,
TOYHBII BBEIOOD CIIOB U aJIeKBaTHOE BIaJIeHHE JIEKCHKOW. B paboTe nmerorcs 1-2 He3HAUUTENbHBIC
(HerpyObie) IeKCHYeCKre OMUOKH, HE 3aTPYAHSIONINE TOHUMAaHNE TEKCTA.

I'pammaruka - 2 6aia.

Y4acTHHUK IEMOHCTPUPYET IPAMOTHOE U YMECTHOE YHOTpeOIeHue rpaMMaTHYECKUX CTPYKTYp. B
paboTe UMeroTCs 2 He3HaUUTeNbHbIE (HErpyOble) rpaMMaTHYECKUe OMNOKH, HE 3aTpyIHSIOLINE
IIOHMMAHHE BbICKa3bIBaHUS.

Opdorpadpus u nynkryanus - 1 6amn.
B tekcre mpucyrctByroT opdorpadudeckue (1-3) w/uiaM mMyHKTyalnuoHHbIE oOmmoOku (3—4),

KOTOPBIC HC 3aTPYAHAIOT O6IJ_ICC IIOHHMMAaHHEC TCKCTA.

KomMmyHukaTuBHasi 3a1a4a He BbInoJHeHa (0 6a/1J10B)— OTCYTCTBYIOT HEOOXOIUMBIC aCTICKThI
NJIN 00bEM BbIcKa3LIBAHUA MeHee 162 ciioB.
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Part 3. Use of English

Tasks 037-046. (20 6aa10B, mo 2 6ania 3a NPaBWILHBII OTBET)

Complete the second sentence so that it has a similar meaning to the first sentence, using the
word given. DO NOT CHANGE the word given. DO NOT USE SHORT FORMS. The
number of words you should write is specified in the sentence.

The example (0) is done for you.

Example: 0. The pool isn’t deep enough to swim in.
too

The pool swim in. (4 words)

= is too shallow to

037. She wanted to travel incognito, so she wore a wig and sunglasses.
avoid

She wore a wig and sunglasses during the trip. (4 words)
=to avoid being recognised

038. Her hair is so long that it takes her ages to dry it.

such

She has it takes her ages to dry it. (4 words)
=such long hair that

039. If I finish my homework early, I’ll go to the party.

unless

I won’t go to the party my homework early. (3 words)
= unless I finish

040. You should have enough time to finish if you work hard.
sufficient

You should have to finish if you work hard. (5 words)
=a sufficient amount of time

041. There were plenty of people on the ship.

few

There were on the ship. (4 words)
=quite a few people

042. I've already heard too much of your nonsense.

more

I’ve already heard your nonsense. (4 words)
=more than enough of

043. It is certain that he will get in trouble with the police.
bound

He in trouble with the police (4 words)
=is bound to get

044. I’'m sure they did it on purpose.

must

They it on purpose. (3 words)
=must have done
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045. People say that Amina has taken the children to the south of Spain.
have

Amina the children to the south of Spain. (5 words)

= is said to have taken

046. Suzy had the accident four hours after she started driving.

for

Suzy four hours when she had the accident. (4 words)
=had been driving for

Part 4. Cultural Study

Tasks 047-056. (20 6a/10B, mo 2 6a/1a 3a KasKAblil NPABUJILHBINA 0TBET)

Now show how well you know English-speaking countries. Read the article and choose the
correct option to complete the text.

Late Medieval England

The 13-th century in England is marked by a general transformation of feudalism, leading
ultimately to its decline and the growth of a capitalist agriculture.

In (047. ) Edward I11 took over the government of the country. He was a great
and popular soldier. He refused to pay homage to Philip (France) and claimed the throne of France.
Thus began the Hundred Years war. English sovereigns did not formally renounce their claim to
the French throne until 1802. In 1346 Edward invaded France. In 1355 war was renewed.

In 1377 Edward was suffering from horrific consequences of the Plague. The exhaustion of
the country after almost 40 years almost unbroken war put an end to the war till it was revived in
1415 by (048. ).

The grievances of the peasantry came to a head in (049. ). Led by Wat Tyler,
angry peasants marched to London. The King met the army of rebellious peasants near the (050.

) and they produced their demands. They demanded the abolition of villeinage and the
division of Church property. Certificates were written out saying that all the demands were satis-
fied and the crowds dispersed quietly. Tyler was killed. All who rebelled were punished.

In 1396 Richard married the daughter of (051. ) of France and made peace with
France. The power of the Parliament continued to grow. It deposed the last Plantagenet king and
appointed (052. ).

After the war ended, the feudal lords returned to England. They divided into 2 hostile groups,
one supporting the (053. ) with a white rose in their coat-of-arms, the other supporting
the (054. ) with a red rose in theirs. The Lancaster dynasty was chiefly supported by
the nobility of _(055. ) and Wales while the York forces found support among some
of the feudal lords of the economically developed (056. ). The head of the York Party,
Richard of York, was formally declared protector. He marched his army to the south and a battle
of 1455 began the civil war that goes in history as "The wars of the Roses™ and which plagued the
country during 30 years.

047.

A. 1327
B. 1330
C. 1326
D. 1328

048.

A. Edward Il

B. Edward 111

C. Henry V

D. Richard Il of Bordeaux
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049.

A. 1380
B. 1381
C. 1382
D. 1383

050.

A. King residence
B. Meeting House
C. Parliament House
D. London Gate

051.

A. Charles VII
B. Charles V
C. Charles VI
D. Louis XI

052.

A. Henry V

B. Henry IV

C. Henry VI

D. Edward III

053.

A. House of Plantagenet
B. Henry VI

C. House of York

D. Henry V

054.

A. House of Lancaster
B. Blanche of Lancaster
C. Henry of Grosmont
D. Henry IV

055.

A. West
B. East
C. South
D. North

056.

A. South-West
B. South-East
C. North-East
D. North-West

110 UHOCTPAHHOMY SI3BIKY
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